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Q:1(8 points) Show that the lines with parametric equations
Ly g=tay=1+22=2438

Ip:z=3-45,y=2—-35,2=14+12s

are skew lines.
S Vedors  pavalled ko dines G omd Ly, a»t
V= <1,2,3% and N 5 <-4 32 rolubely.
: ; — bET .
The Ei‘me,s) Orre ok ‘DQ'YC.E& e;gx e Coaunk \}i 4:%\33
T L ond Ly Ped opoind of indevscdhin, 4R
Veluen fﬁ ¥ and % ‘%u(ﬁ\ Mhed ..
F =34 frar s 3 S
ok = 2-3 0 O I 438 = ) Civ)
g-}*;})s = =) (‘ul}

el GO Sd bt

Fog
oW Jh

243% =) ADA
S@j\fﬁ i amd (WY we Ge¥ 3=),4=-1.
TThee  ~aduer de wmet %&‘\&Qj ﬁﬂu"‘ i)
TTheacbox Ly ond L~ de wek wesledt -

Henee L e L 5 o Keecs Lained .

(b)(6 points) Find the distance between the planes
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Q:2 (10 points) Find an equation of the plane that passes through the points P(1,3, 2), Q(3, -1, 6)
and R(5,2,0).
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Q:3 (14 points) Consider the quadratic surface 4z? — 2y* + 22 +8 = (.
(1) Find the traces of the surface in the planes y = k ( k is a constant).
(ii) Identify and sketch the surface.
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Q:4 Let f(z,9)=1n/9—82% — 32

(a)(6 points) Find and sketch the domain of f.
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(b) (2 points) Find the range of f
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(c) (4 points) Write (an e)quation of the level curve of f which passes through the
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Q:5 (10 points) Evaluate lim(zjy)_)(gso) e
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Q:6 (2)(6 points) Find 2 and £ when z = €”'sin20, r =st —t?, 6 = /s +t2. -
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(b)(6 points) Find %2 and gﬁ at (0,1,0) for
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Q:7 (12 points) Find the linear approximation to the function f(z,y) = /10 — 22 — 592
at (2,1) and use it to approximate f(2.1,0.9).
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Q:8 (a)(6 points) Find equation of the tangent plane to the surface z°+y* -2 =1 at a point
(a,b,c).
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(b) (10 points) Find all points on the hyperboloid z* +3* — 2* = 1 at which the tangent

plane is parallel to the plane z +y + 2 = 1.
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